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I 't mwn: liabilities per mrInn in case of 7m:
a  if he was drinking and they gave him one warning — one set of man
i butif: they gave him a separate warning before each drink — multiple liabilities
II  'n mwn: same applies to nn nrMY and MY and to anyone donning 1vyw
1 Np’8 777 /7772 80K 7’7 this means actually putting it on and taking it off, not just sliding a sleeve on etc.
2 »wN "1 even keeping it on long enough to (potentially) undress and dress is a separate liability
I "o mwn: maximum man possible in one act of plowing a furrow — 8
a 7w and 1nn together (nnna *8%d)
b they are pwTpn (nY*yn) — this may count as two; as v is P"17p and 7N has 741p (N°an P13)
c field is mixed of grapes and wheat (this may be two — B33 X3 and Y1 'RY2)
d itisnonw
e itisv™
f  heisa jnd and the field is a nxnvN N2
g  heisalsoavmn—field is a nkmvN M2
i Suggestion: "R1aN 12 XN "1 also add if he was wearing n'x9
1 defense: that is unrelated to the act of plowing
2 response: so is the (jn2) 11 issue
IV analysis: quest for additional 8%
a  prelude:
i report: "Ry 7 —the T agreed that covering up o&2 is considered a 1% >mon
ii  protest: .Y "1 — that’s our nwn!
1 defense: we might have thought that our niwn follows ™ as per his interpretation of v. 1 — 5"np that all agree
that covering up D’x53 is tantamount to planting them
b why not add:
i NSy on v (we established that covering n'ka=planting) along with w711 on v
1 suggested answer: 171 Rin
(a) block: can’t say 17w1 Rin when the Rin gave an exhaustive number (8)
2 answer: there is no MIRYN MY N for V™ (>one set of Man for all VY MY, unlike Naw)
3 challenge: ruling that eating a nwin 7 cooked in milk on v" carries 5 man
(a) assumed: eating T, eating n”113, cooking on v, cooking n”a1, n7yan on Vv
(i) wam represents multiple liability for v %15n
(if) answer: 5™ should be eating n%>1
1. block: (tradition) list includes 3 for cooking, 2 for eating
(iii) rather: 5" should be using wood from an nIWR tree (as per v. 2)
1. challenge: if so, should be 6, as per v. 3
(iv) rather: 5% is use of wood from n27yn per v. 4
®YWIN “1: add plowing in 1R Ym (off-limits due to navy n%y buried performed there —v. 5)
~223n1 /7. add erasing God’s Name while walking (v. 4)
1738 /1. add cutting off a a1 (while plowing —v. 6)
»2x: include removing jwIn from Mar (v. 7) and removing dowels from 1R (v. 8)
g  Nra7 cutting down fruit trees while plowing (v. 9)
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h  »7pr“r he took oath against plowing on v
i block: he’s already 191 Yawn so the oath is invalid
ii  defense: if he takes an oath not to plow on %1 and v
1 explanation: since it’s valid for %n, it also extends to V" (can’t be just for 0" — TR Y2VIN)
iii answer: Xan didn’t include those things that can be repealed via noxv
1  block: wpnisincluded
(a) answer: could be M33; 7192 NWITP is inherent
2 block: vm is included
(a) answer: could be Pwnw M (irrevocable)
(b) challenge: a pYNW 11 isn’t liable for nn n&MY — which was listed in the n1wn as an example
(i) answer: our Rin doesn’t hold that MR Yy YN DR even with 010 MOR (or H912)
(if) explanation: he wouldn’t add the n»1aw component, but does include 1 w10
i tangential ruling:
i N 71 sets of man for NyaIn of a WIPINN '8 N
1  reason:itis considered as both p%n and o'wTp = even mating with its own kind are considered »n 1R
ii ~ pny 7 leading (plowing) with DwIpINN *9108 MW gets man for orY) (it is two different species in one)
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